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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 14 gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 14 questions. 
•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 

examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % 

    (i) lHkh ç'u vfuok;Z gSaAlHkh ç'u vfuok;Z gSaAlHkh ç'u vfuok;Z gSaAlHkh ç'u vfuok;Z gSaA    

 (ii) çR;sd ç'u ds fu/kkZfjr vad mlds lkeus fn, x, gSaA 

 (iii) ç'u la[;k 1 dks pkyhpkyhpkyhpkyhllll (40) oLrqfu"B ç'uksa ¼cgqfodYih;] lR;-vlR;] fjDr LFkku ,oa lgh 
feyku½ esa ck¡Vk x;k gSA çR;sd ç'u 1 vad dk gSA  

 (iv) ç'u la[;k 2 ls 6 rd vfr-y?kwÙkjkRed ç'u gSa ftuesa çR;sd ç'u 2 vadksa dk gSA çR;sd dk 
mÙkj lkekU;r% 30 'kCnksa ls vf/kd ugha gksuk pkfg,A 

 (v) ç'u la[;k 7 ls 11 rd y?kwÙkjkRed ç'u gSa ftuesa çR;sd ç'u 3 vadksa dk gSA çR;sd dk mÙkj 
lkekU;r% 60 'kCnksa ls vf/kd ugha gksuk pkfg,A 

 (vi) ç'u la[;k 12 ls 14 rd nh?kZ mÙkjkRed ç'u gSa ftuesa çR;sd ç'u 5 vadksa dk gSA çR;sd dk 
mÙkj lkekU;r% 130 'kCnksa ls vf/kd ugha gksuk pkfg,A 

 (vii) lHkh nh?kZ mÙkjkRed ç'uksa esa vkUrfjd NwV miyC/k gSA ,sls ç'uksa esa ls vkidks dsoy ,d ghdsoy ,d ghdsoy ,d ghdsoy ,d gh ç'u 
djuk gSA 

 (viii) 'kCn-lhek lw=ksa] la[;kRed rFkk js[kkfp= okys ç'uksa ij ykxw ugha gSA 

General Instructions : 

    (i) All questions are compulsory. 

 (ii) Marks for questions are indicated against each. 

 (iii) Question No. 1 is divided into forty (40) objective type questions (multiple 
choice, true-false, fill in the blank and correct match). Each question carries 1 
mark.  

 (iv) Question Nos. 2 to 6 are very short answer type questions carrying 2 marks 
each. Answer to these should normally not exceed 30 words each. 

 (v) Question Nos. 7 to 11 are short answer type questions carrying 3 marks 
each. Answer to these should normally not exceed 60 words each. 

 (vi) Question Nos. 12 to 14 are long answer type questions carrying 5 marks 
each. Answer to these should normally not exceed 130 words each. 

 (vii) Internal choice is available in all long answer type questions. You have to 
attempt only one of the given choice. 

 (viii) Word limit is not applicable to formulae, numerical and diagrammatical 
questions. 
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¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½    

(Objective Type Questions) 

1. lgh fodYi pqfu, %lgh fodYi pqfu, %lgh fodYi pqfu, %lgh fodYi pqfu, %     

Choose the correct alternatives : 

(1) U;kn'kZ dh fo'oluh;rk eq[; :i ls fdl ckr ij fuHkZj djrh gS \ 1 

 (A) U;kn'kZ ds vkdkj ij  

 (B) çx.kdksa ds çf'k{k.k ij 

 (C) U;kn'kZ dh fof/k ij 

 (D) mijksDr lHkh ij 

 Reliability of sampling data depends on : 

 (A) Size of sample  

 (B) Training of enumerators 

 (C) Method of sampling  

 (D) All of the above 

 (2) foHkktu ewY; dk ,d çdkj gS % 1 

 (A) ekf/;dk  

 (B) prqFkZd 

 (C) nksuksa (A) rFkk (B)  

 (D) buesa ls dksbZ ugha 
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 Following is a kind of partition value : 

 (A) Median  

 (B) Quartile 

 (C) Both (A) and (B)  

 (D) None of these 

 (3) lap;h vko`fÙk oØ dh jpuk dh tk ldrh gS %  1 

 (A) ^ls de* fof/k }kjk  

 (B) ^ls vf/kd* fof/k }kjk 

 (C) nksuksa (A) rFkk (B) }kjk  

 (D) buesa ls dksbZ ugha 

 Construction of a cumulative frequency curve will be done by : 

 (A) 'Less than' method  

 (B) 'More than' method 

 (C) Both (A) and (B)  

 (D) None of these 

 (4) vuqla/kku dh fof/k }kjk ekSfyd :i ls bdV~Bs vk¡dM+s dgykrs gSa % 1 

 (A) çkFkfed vk¡dM+s  

 (B) f}rh;d vk¡dM+s 

 (C) r`rh;d vk¡dM+s  

 (D) mijksDr esa ls dksbZ ugha 

www.M
sE

du
ca

tio
nT

v.c
om



 ( 5 ) 1511 

1511   P. T. O. 

 Data originally collected by the process of the investigation are known as : 

 (A) Primary data  

 (B) Secondary data 

 (C) Tertiary data  

 (D) None of the above 

 (5) vkSifuosf'kd 'kklu ds le;] Hkkjr dh tukafddh; fo'ks"krk Fkh % 1 

 (A) mPp tUe nj  

 (B) mPp e`R;q nj 

 (C) mPp f'k'kq nj  

 (D) mijksDr lHkh  

 During colonial period, India's demographic feature is/are : 

 (A) High birth rate  

 (B) High death rate 

 (C) High infant rate  

 (D) All of the above 

 (6) mPp lglEcU/k dh fLFkfr esa] lglEcU/k xq.kkad (r) gksxk % 1 

 (A) 0 < r ≤ 0.25  

 (B) 0.25 < r ≤ 0.50 

 (C) 0.50 < r ≤ 0.75  

 (D) 0.75 < r  
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 In case of high degree of correlation, correlation coefficient (r) will be : 

 (A) 0 < r ≤ 0.25  

 (B) 0.25 < r ≤ 0.50 

 (C) 0.50 < r ≤ 0.75  

 (D) 0.75 < r 

 (7) Ñf"k lk[k ds eq[; lk/ku gSa % 1 

 (A) O;kikfjd cSad   

 (B) {ks=h; xzkeh.k cSad  

 (C) Ñf"k lgdkjh lk[k lfefr;k¡  

 (D) mijksDr lHkh 

 Main sources of Agricultural Credit are : 

 (A) Commercial Banks  

 (B) Regional Rural Banks 

 (C) Agricultural Cooperative Credit Societies 

 (D) All of the above 
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 (8) ^lkoZtfud {ks= dk ladqpu* ,d mik; gS % 1 

 (A) futhdj.k dk  

 (B) mnkjhdj.k dk 

 (C) oS'ohdj.k dk  

 (D) buesa ls dksbZ ugha 

 'Contraction of Public Sector' is a measure of : 

 (A) Privatisation  

 (B) Liberalisation 

 (C) Globalisation  

 (D) None of these 

 
(9) 'kgjh {ks= esa ikbZ tkus okyh csjkstxkjh gS/gSa % 1 

 (A) vkS|ksfxd csjkstxkjh  

 (B) f'kf{kr csjkstxkjh 

 (C) mijksDr nksuksa  

 (D) buesa ls dksbZ ugha 
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 Type of Urban Unemployment is/are : 

 (A) Industrial Unemployment 

 (B) Educated Unemployment 

 (C) Both of the above  

 (D) None of these 

 
(10) /kkj.kh; fodkl dk çfriknu fdl fjiksVZ esa fd;k x;k \ 1 

 (A) vkoj oYMZ  

 (B) vkoj dkWeu ¶;wpj 

 (C) lso n oYMZ  

 (D) MsoyiesUV 

 The concept of sustainable development is stated in which report ? 

 (A) Our World  

 (B) Our Common Future 

 (C) Save the World  

 (D) Development 

www.M
sE

du
ca

tio
nT

v.c
om



 ( 9 ) 1511 

1511   P. T. O. 

crkcrkcrkcrkb, fuEufyf[kr dFku lb, fuEufyf[kr dFku lb, fuEufyf[kr dFku lb, fuEufyf[kr dFku lR;R;R;R;    gSgSgSgSaa aa    ;k ;k ;k ;k vlR;vlR;vlR;vlR;    %%%%    

State whether the following statements are true or false : 

 
(11) f}rh;d vk¡dM+s ekSfyd gksrs gSaA 1 

 Secondary datas are original. 

 
(12) tux.kuk gsrq Hkkjr esa çfrn'kZ fof/k ç;ksx dh tkrh gSA 1 

 In India, census is done by sample method. 

 
(13) vk¡dM+ksa dks lkj.kh esa çnf'kZr fd;k tk ldrk gSA 1 

 Datas can be shown by Table. 

 

(14) lekUrj ek/; Kkr djus dk lw= 
N

X
X

∑
=  gSA 1 

 Formulae to calculate arithmetic mean is 
N

X
X

∑
= . 

 
(15) lglEcU/k xq.kkad dk ewY; _.kkRed ugha gksrk gSA 1 

 Value of correlation coefficient can't be negative. 

 
(16) Hkkoh ih<+h ds dY;k.k gsrq /kkj.kh; fodkl mÙkjnk;h gSA 1 

 Sustainable Development accounts for welfare of future generation. 
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(17) ,sfPNd csjkstxkj dks csjkstxkj ughaughaughaugha  ekuk tkrk gSA 1 

 Voluntary unemployed is not considered as unemployed. 

 
(18) ubZ vkfFkZd uhfr 24 tqykbZ] 1991 ls ykxw dh xbZA 1 

 New Economic Policy executed from 24 July, 1991. 

 
(19) SIDBI cSad] y?kq m|ksxksa dks _.k çnku djrk gSA 1 

 SIDBI Bank issues loan to the small industries. 

 
(20) fo'kq) cprksa ls vkfFkZd lao`f) dks ekik tkrk gSA 1 

 Economic Growth is measured by Genuine Savings. 

fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %    

Fill in the blanks : 

 
(21) çR;{k vuqla/kku vis{kkÑr --------------- egaxh fof/k gSA ¼de/vf/kd½   1 

 Direct Investigation Method is comparatively ………….. dearer method. 

(less/more) 

 
(22) lkj.kh dk ,d vfuok;Z Hkkx --------------- gSA ¼'kh"kZd/fp=½   1 

 ………….. is a necessary part of table.  (Heading/Diagram) 

 
(23) ---------------] foHkktu ewY; dk ,d çdkj gSA ¼ek/;/ekf/;dk½   1 

 ………….. is a type of partition value.  (Mean/Median) 
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(24) ---------------] vk¡dM+ksa dks pkj cjkcj Hkkxksa esa ck¡Vrk gSA ¼prqFkZd/n'ked½   1 

 ………….. divided the datas in four equal parts. (Quartile/Decile) 

 
(25) --------------- us Js.kh lglEcU/k xq.kkad dk fuekZ.k fd;kA ¼dkyZ fi;lZu/Lih;jeSu½   1 

 ………….. construct the rank correlation coefficient.  

(Karl Pearson/Spearman) 

 
(26) ge --------------- {ks=d dks r`rh;d {ks= esa 'kkfey djrs gSaA ¼Ñf"k/chek½   1 

 We includes ………….. sector in tertiary sector. (Agriculture/Insurance) 

 
(27) ubZ vkfFkZd uhfr esa --------------- dks 'kkfey fd;k tkrk gSA ¼futhdj.k/pqukoksa½   1 

 ………….. is included in New Economic Policy. (Privatisation/Elections) 

 (28) ekSleh csjkstxkjh lkekU;r% --------------- esa ikbZ tkrh gSA ¼Ñf"k/m|ksx½   1 

 Normally seasonal unemployment exists in ………….. .  

(Agriculture/Industries) 

 (29) vkfFkZd fodkl rFkk /kkj.kh; fodkl esa vUrj --------------- tkrk gSA ¼ik;k/ugha ik;k½   1 

 There exist ………….. in economic development and sustainable 

development.   (Difference/No Difference) 

 
(30) Hkkjr esa iapo"khZ; ;kstuk,¡ --------------- ls çkjEHk dh xb±A ¼1950/1951½   1 

 In India, five year plans starts from ………….. . (1950/1951) 
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lgh feyku djsa lgh feyku djsa lgh feyku djsa lgh feyku djsa ¼ç'u la[;k  ¼ç'u la[;k  ¼ç'u la[;k  ¼ç'u la[;k  31    ls ls ls ls 40½ ½ ½ ½ %%%%    

Correctly match the following (Q. No. 31 to 40) : 10 × 1 = 10 

 
(31) Hkkjr dh igyh vkS|ksfxd uhfr (a) fu/kZurk dh eki 

 First industrial policy of India  Measure of Poverty 

 
(32) foHkktu ewY; (b) vkfFkZd fØ;k 

 Partition Value  Economic Activity 

 
(33) xf.krh; vkSlr (c) mnkjhdj.k 

 Mathematical Average  Liberalisation 

 
(34) lglEcU/k xq.kkad (d) prqFkZd 

 Correlation Coefficient  Quartile 

 (35) MRTP ,DV esa NwV (e) 1948 

 Liberalising MRTP Act   

 
(36) pdcanh (f) lekUrj ek/; 

 Consolidation of Land Holdings  Arithmetic Mean 

 
(37) Ñf"k lk[k (g) dkyZ fi;lZu 

 Agricultural Credit   Karl Pearson 
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 (38) fuos'k  (h) Hkwfe lq/kkj 

 Investment  Land Reforms 

 (39) ljy n.M vkjs[k (i) {ks=h; xzkeh.k cSad 

 Simple Bar Diagram  Regional Rural Banks  

 (40) dSyksjh ekin.M (j) vk¡dM+ksa dk fp=h; çn'kZu 

 Calorie Norms  Diagramatic Presentation of Data 

¼vfr¼vfr¼vfr¼vfr-y?ky?ky?ky?kww wwÙkjkRed ç'u½ÙkjkRed ç'u½ÙkjkRed ç'u½ÙkjkRed ç'u½    

(Very Short Answer Type Questions) 

2. ;kn`fPNd/nSo fun'kZu fof/k ls vki D;k le>rs gSa \  2 

What do you mean by Random Sampling Method ? 

3. lglEcU/k xq.kakd dh nksnksnksnks  fo'ks"krk,¡ crkb,A  2 

State any two features of Correlation Coefficient. 

4. LorU=rk ds le; Hkkjrh; vFkZO;oLFkk esa Ñf"k dh fLFkfr dk la{ksi esa o.kZu djsaA  2 

Explain in brief, the state of agriculture in Indian economy at the time of 

independence. 

5. fuEufyf[kr leadksa ls lekUrj ek/; Kkr dhft, %  2 

vk; ¼#i;s esa½vk; ¼#i;s esa½vk; ¼#i;s esa½vk; ¼#i;s esa½    10000 20000 30000 40000 50000 

O;fDr;ksa dh la[;kO;fDr;ksa dh la[;kO;fDr;ksa dh la[;kO;fDr;ksa dh la[;k    4 5 3 2 9 
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Calculate the arithmetic mean from following data : 

Income (Rs.) 10000 20000 30000 40000 50000 

No. of Persons 4 5 3 2 9 
 

6. Hkkjr esa fu/kZurk ds dksbZ nksnksnksnks  dkj.kksa dh O;k[;k djsaA  2 

State any two reasons of poverty in India. 

¼¼¼¼y?ky?ky?ky?kww wwÙkjkRed ç'u½ÙkjkRed ç'u½ÙkjkRed ç'u½ÙkjkRed ç'u½    

(Short Answer Type Questions) 

7. ,d vPNs oxhZdj.k ds eq[; rÙoksa dh O;k[;k djsaA  3 

Explain the characteristics of a Good Classification. 

8. ifjHkkf"kr dhft, %  1 × 3 = 3 

(i) cgqxq.kh n.M vkjs[k 

(ii) vk;r fp= 

(iii) cgqHkqt 

Define the following : 

(i) Multiple Bar Diagram 

(ii) Histogram 

(iii) Polygon 
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9. Hkwf;"Bd/cgqyd] ekf/;dk rFkk prqFkZd dks ifjHkkf"kr djsaA 1 × 3 = 3 

Define Mode, Median and Quartile. 

10. Ñf"k lk[k ds rhurhurhurhu  laLFkkxr òksrksa dh O;k[;k djsaA  3 

Explain any three institutional sources of Agricultural Credit. 

11. /kkj.kh; fodkl rFkk vkfFkZd fodkl esa fdUgha rhurhurhurhu vUrjksa dh O;k[;k djsaA  3 

Explain any three differences between economic development and sustainable 

development. 

¼¼¼¼nh?kZnh?kZnh?kZnh?kZ    mÙkjmÙkjmÙkjmÙkjkRedkRedkRedkRed    ç'u½ç'u½ç'u½ç'u½    

(Long Answer Type Questions) 

12. Hkkjr esa iapo"khZ; ;kstukvksa ds nh?kZdkyhu mn~ns'; crkb,A 5 

State the long-term objectives of Five Year Plans in India. 

vFkokvFkokvFkokvFkok    

OR 

Hkkjrh; fu;kstu dh pkjpkjpkjpkj  eq[; miyfC/k;k¡ crkb,A 5 

State any four achievements of Indian Planning. 

13. vFkZO;oLFkk ds mnkjhdj.k ls D;k vfHkçk; gS \ blds eq[; mik; crkb,A 1 + 4 = 5 

What is meant by Liberalisation of the economy ? Explain its main measures. 

vFkokvFkokvFkokvFkok    

OR 

vkfFkZd lq/kkjksa ls D;k vfHkçk; gS \ vkfFkZd lq/kkjksa dh vko';drk D;ksa gqbZ \ 1 + 4 = 5 

What is meant by Economic Reforms ? Why the need of Economic Reforms 

occurs ? 
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14. Hkkjr esa c<+rh gqbZ csjkstxkjh ds dkj.kksa dk o.kZu dhft,A 5 

Explain the causes of increasing unemployment in India. 

vFkokvFkokvFkokvFkok    

OR 

fuEu dh la{ksi esa O;k[;k djsa % 2 + 2 + 1 = 5 

(i) ÅtkZ ds ijaijkxr òksr ds nksnksnksnks  mnkgj.k 

(ii) fNih gqbZ csjkstxkjh  

(iii) vk/kkfjd lajpuk dh ifjHkk"kk 

Explain the following in brief : 

(i) Two examples of conventional source of energy 

(ii) Disguised Unemployment 

(iii) Definition of Basic Infrastructure 
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